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Questions:

Solve questions 1-7 for the variable

1. 6r + 7 = 13 + 7r

2. −14 + 6b + 7 − 2b = 1 + 5b

3. 5 + 2x = 2x + 6

4. 4n − 40 = 7(−2n + 2)

5. 8x + 4(4x − 3) = 4(6x + 4) − 4

6. 4.6c - 3 = 3.2c + 1.2

7. 1
2 𝑥 − 3 = 2 − 3

4 𝑥

8. Let x, y be the solution to the following system of

equations:

(𝑎 − 𝑏)𝑥 + (𝑎 + 𝑏)𝑦 = 𝑎2 − 2𝑎𝑏 − 𝑏2

(𝑎 + 𝑏)(𝑥 + 𝑦) = 𝑎2 + 𝑏2

The value of xy is equal to

a. 2ab

b. -2ab

c. ab

d. -ab

e. None of these

9. The sum of the values of x and y which form the solution

to the system of equations

Solving Equations with Variables on Both Sides Worksheets



,5
𝑥−1 + 1

𝑦−2 = 2

6
𝑥−1 + 3

𝑦−2 = 1

is _______?

10.8 men and 12 boys can finish a task in 5 days, while 6 men

and 8 boys can finish it in 7 days. FInd the number of days

taken by 1 boy to complete the work.

= ____ days

ANSWERS

1. -6

2. -8

3. No Solution

4. 3

5. All real numbers

6. 3

7. 4



8. -2ab

9. 9

10. 140



https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=math-worksheets

	00-1111-1aaaaa-aaafront-finalfinal.pdf
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page


